wIEZRE ST ¢ AS—1
2. 1 A OE AL KREERES (HTvmERIs X OVBRKRES Ze &R RHEEE)
DO B R AS—1 (BB SO EEERT. T OB Bz K., RAKREICX D

JEE R DG 2 B D & DA ES (U7 59 2 m)
4. fF 0 % Bt B M

— e 4 PR | B B | & ¥t 4
Mgy 7 ) v F S5 4 ~—|SDK—-—P—-—401|¥Yy>bF—9=z/LRF#1000
mgy 7)) v FRL U F|ISDK—-—P—-—411 |y bb—=Y 27 #5000
= K ¥ B IE®RE FB|SDK-P—-—413|x%x4A2—%—%2300MC
EREE =R OBERBTHR|SDK —-P —4 17|43 —%—%#2300PS
KBRS ZRIEBRBATB|SDK - P -4 23|y hF—70 2 8100%%
KIERIE 5S> ZMIEBRB EB|SDK —P —434 |y —7m2%#100SDK

5. ¥ 4% I £k

] ) ‘ i FH & HREEBE | & 2 M |
W TR oM OGH OE R E - B B 4 , )
(g/m) (um) (20°C) T
| F o | FEHRT I AL IS0 Sa2 1/2 i
1 | Al B AN
oo SPSS  Sd2, Sh2
AL HHIZ
o oy =Tz F#E1000 160
2 | ¥ 7" GA4= R 15 -
(7 L—) (WRAT) 6 7 H LA
3 w722k IS0 Sa2 1/2 PE LN
3 & H R :
SPSS  Sd2, Sh2 75 A NM&
o =Y 27 #5000 600 HHIZ
4 T#E1 . 75 4
(7'L—) (MRAT) i
‘ _ 2A~10H | T
- T ] XA T = —=—#2300MC 160% =
AP - i
(H) (WRAT) &
- - 1H~10H | X
) F* A d—%v—%# 230 0MC 300 1E
6 T2 60 Ea
(N8. 5) (WA
: : 1 H~10 H
) * A d—%—%#2300PS 540
(. ¥ 3 . 120
% (7'L—) (MRAT)
- 1 H~10 H
] Yo h—=7uwmr#100H%E 170
8 S-S s 30
(F8 7 01%%) (WRAT)
] o h—7uwrf#100SDK 140 1 H~10 H
9 & L 25
(FeEf) (WRAT)
(FEEEHE)

1) WBHEESRIT, THRERIERGT I T2 ol Ml R U A CPR 29 4R 8 ) ) ITHiE D 2 &,

2) TARF UBIIRERE FBE IR AR % R RE i 160g nix 80g niD ) —T
FRLEbOEFAET 5,

3) MO BIERIIE, Mo/ 2m (BEE V1 m) ZFEEL TS,




